

## ASYMPTOTIC BEHAVIOR OF HIGHER ORDER DIFFERENTIAL EQUATIONS WITH DEVIATING ARGUMENT

YITAO YANG\* AND FANWEI MENG

ABSTRACT. The asymptotic behavior of solutions of higher order differential equations with deviating argument

$$(py^{(n-1)}(t))' + \sum_{i=1}^{n-1} c_i(t)y^{(i-1)}(t) = f \left[ t, y(t), y'(t), \dots, y^{(n-1)}(t), \right. \\ \left. y(\phi(t)), y'(\phi(t)), \dots, y^{(n-1)}(\phi(t)) \right] \quad (1)$$

$t \in [0, \infty)$  is studied. Our technique depends on an integral inequality containing a deviating argument. From this we obtain some sufficient conditions under which all solutions of Eq.(1) have some asymptotic behavior.

AMS Mathematics Subject Classification: 26D15, 26D20.

*Key words and phrases* : Differential equations, integral inequality, asymptotic behavior of solutions.

### 1. Introduction

We consider the differential equation

$$(py^{(n-1)}(t))' + \sum_{i=1}^{n-1} c_i(t)y^{(i-1)}(t) = f \left[ t, y(t), y'(t), \dots, y^{(n-1)}(t), \right. \\ \left. y(\phi(t)), y'(\phi(t)), \dots, y^{(n-1)}(\phi(t)) \right] \quad (1)$$

where  $p = p(t)$  is a positive and differentiable function on  $R_+ = [0, \infty)$  such that  $p(0) = 1$ ;  $c_i = c_i(t)$  and  $\phi$  are continuous functions on  $R_+$  for  $i = 1, 2, \dots, n-1$ ;  $f$  is a continuous function on  $R_+ \times R^{2n}$ .

We recall that the initial value problem of Eq.(1) is defined as follows [2].

---

Received January 3, 2009. Revised September 29, 2009. Accepted October 14, 2009.

\*Corresponding author.

Supported by the National Natural Science Foundation of China (No. 10771118).

© 2010 Korean SIGCAM and KSCAM .

Let  $\inf_{t \in [0, \infty)} \phi(t) = r$  and  $\theta$  be a given differential function defined on  $[r, 0]$ . The initial value problem of Eq.(1) in the interval  $[0, \beta)$  is to find a function  $y(t)$ , such that

- (i)  $y(0^+) = \theta(0^-)$ ,  $y'(0^+) = \theta'(0^-)$ , ...,  $y^{(n-1)}(0^+) = \theta^{(n-1)}(0^-)$ ;
- (ii)  $y^{(j)}(t) = \theta^{(j)}(t)$ ,  $t \in [r, 0)$ ,  $j = 0, 1, \dots, n-1$ ;
- (iii)  $(py^{n-1}(t))'$  exist on  $[0, \beta)$  and Eq.(1) is satisfied.

We also assume that the initial value problem of Eq.(1) is local existence.

As in [1], here we suppose that the general solution of the differential equation

$$(pz^{(n-1)})' + \sum_{i=1}^{n-1} c_i(t)z^{(i-1)} = 0, \quad t \in R_+, \quad (2)$$

is known, and let  $\{z_i\}_{i=1}^n$  be a fundamental system of solutions of (2) which satisfies for each  $i = 1, 2, \dots, n$ ,

$$(z_i(0), z'_i(0), \dots, z_i^{(n-1)}(0)) = \bar{e}_i, \quad (3)$$

where  $\bar{e}_i = (0, 0, \dots, 1, 0, \dots, 0)$  (1 in the  $i$ -th place) is the standard base of  $R^n$ .

We will prove that all solutions  $y$  of (1) are defined on all of  $R^+$  and these satisfy the equation as  $t \rightarrow \infty$ .

$$y^{(k)} = \sum_{i=1}^n (\delta_i + o(1)) z_i^{(k)}, \quad (4)$$

where  $k = 0, 1, 2, \dots, n-1$  and  $\delta_i : i = 1, 2, \dots, n$  are constants.

In 1996, S.M. Aziz and A.H. Nasr [1] studied the asymptotic behavior and oscillations of solutions of second order differential equation with deviating argument of the form

$$(a(t)x')' + b(t)x' + c(t)x = f[t, x(t), x'(t), x(\phi(t)), x'(\phi(t))].$$

The purpose of this paper is to establish a new integral inequality containing a deviating argument and to study the asymptotic behavior of (1) which extend the result in [1].

## 2. Preliminary

In the subsequent discussion we shall require the following integral inequality.

**Lemma 1.** Let  $u(t)$  and  $a(t) : I = [0, \infty) \rightarrow R_+ = [0, \infty)$  are continuous functions, the functions  $f_i(t, s)$  ( $i = 1, 2, \dots, m$ ) :  $D = [(t, s) : 0 \leq s \leq t < \infty] \rightarrow R_+$  are continuous. Suppose that the inequality

$$u(t) \leq a(t) + \sum_{i=1}^m \int_0^t f_i(t, s) [u(s)]^{r_i} ds, \quad (5)$$

holds for all  $t \in I$ , where  $r_i$  are numbers from  $(0, 1]$ . Then we have

$$u(t) \leq a(t) + F(t) \exp \sum_{i=1}^m \int_0^t f_i(t, s) r_i k^{r_i-1} ds, \quad t \in I \quad (6)$$

for any  $k > 0$ , where

$$F(t) = \sum_{i=1}^m \int_0^t f_i(t, s) [(1 - r_i)k^{r_i} + r_i k^{r_i - 1} a(s)] ds. \quad (7)$$

*Proof.* Define a function  $z(t)$  by

$$z(t) = \sum_{i=1}^m \int_0^t f_i(t, s) [u(s)]^{r_i} ds. \quad (8)$$

Then (5) can be restated as

$$u(t) \leq a(t) + z(t). \quad (9)$$

By (8) we have

$$z(t) \leq \sum_{i=1}^m \int_0^t f_i(t, s) [a(s) + z(s)]^{r_i} ds. \quad (10)$$

By [2, lemma 1], we have

$$z(t) \leq \sum_{i=1}^m \int_0^t f_i(t, s) [r_i k^{r_i - 1} (a(s) + z(s)) + (1 - r_i)k^{r_i}] ds,$$

for any  $k > 0$ , and then  $z(t) \leq F(t) + \sum_{i=1}^m \int_0^t f_i(t, s) r_i k^{r_i - 1} z(s) ds$ . It is easy to see that  $F(t)$  is nonnegative continuous and nondecreasing for  $t \in I$ .

Thus we have

$$z(t) \leq F(t) \exp \sum_{i=1}^m \int_0^t f_i(t, s) r_i k^{r_i - 1} ds. \quad (11)$$

The desired inequality (6) follows from (9) and (11).

**Lemma 2.** *Let the following conditions be satisfied:*

1.  $u(t)$  and  $a(t) : I = [0, \infty) \rightarrow R_+ = [0, \infty)$  are continuous functions,  $\phi(t)$  is a continuously differentiable function satisfying that  $\phi(t) \leq t$ ,  $\phi'(t) > 0$  and  $\phi(t)$  is eventually positive.

2. The functions  $f_i(t, s)$  ( $i = 1, 2, \dots, m$ ) and  $g_i(t, s)$  ( $i = 1, 2, \dots, n$ ) :  $D = \{(t, s) : 0 \leq s \leq t < \infty\} \rightarrow R_+$  are continuous and nondecreasing in  $t$  for  $s \in I$  fixed.

3. The following integral inequality

$$u(t) \leq a(t) + \sum_{i=1}^m \int_0^t f_i(t, s) [u(s)]^{r_i} ds + \sum_{i=1}^n \int_0^t g_i(t, s) [u(\phi(s))]^{p_i} ds, \quad (12)$$

holds for all  $t \in I$ , where  $r_i$  ( $1 \leq i \leq m$ ),  $p_i$  ( $1 \leq i \leq n$ ), are numbers from  $(0, 1]$ . Then we have

$$u(t) \leq a_1(t) + \bar{F}(\phi^{-1}(t)) \times \exp \sum_{i=1}^m \int_0^t f_i(t, s) r_i k^{r_i - 1} ds \exp \sum_{i=1}^n \int_{\phi^{-1}(0)}^{\phi^{-1}(t)} g_i(\phi^{-1}(t), s) p_i k^{p_i - 1} ds \quad (13)$$

for any  $k > 0$ , where

$$\begin{aligned} \bar{F}(t) &= \sum_{i=1}^m \int_{\phi^{-1}(0)}^t f_i(t, \phi(s)) \phi'(s) [(1 - r_i)k^{r_i} + r_i k^{r_i-1} a_1(\phi(s))] ds \\ &\quad + \sum_{i=1}^n \int_{\phi^{-1}(0)}^t g_i(t, s) [(1 - p_i)k^{p_i} + p_i k^{p_i-1} a_1(\phi(s))] ds, \end{aligned} \tag{14}$$

$$a_1(t) = a(t) + \sum_{i=1}^n \int_0^{\phi^{-1}(0)} g_i(t, s) [u(\phi(s))]^{p_i} ds. \tag{15}$$

*Proof.* From (12) we deduce that for sufficiently large  $t$ ,

$$\begin{aligned} u(\phi(t)) &\leq a(\phi(t)) + \sum_{i=1}^m \int_0^{\phi(t)} f_i(\phi(t), s) [u(s)]^{r_i} ds \\ &\quad + \sum_{i=1}^n \int_0^{\phi(t)} g_i(\phi(t), s) [u(\phi(s))]^{p_i} ds \\ &\leq a(\phi(t)) + \sum_{i=1}^m \int_0^{\phi(t)} f_i(\phi(t), s) [u(s)]^{r_i} ds \\ &\quad + \sum_{i=1}^n \int_0^{\phi(t)} g_i(t, s) [u(\phi(s))]^{p_i} ds. \end{aligned} \tag{16}$$

It is easy to see that

$$\sum_{i=1}^m \int_0^{\phi(t)} f_i(\phi(t), s) [u(s)]^{r_i} ds = \sum_{i=1}^m \int_{\phi^{-1}(0)}^t f_i(t, \phi(s)) [u(\phi(s))]^{r_i} \phi'(s) ds,$$

substituting this in (16) and keeping in mind that

$$\begin{aligned} \sum_{i=1}^n \int_0^{\phi(t)} g_i(t, s) [u(\phi(s))]^{p_i} ds &\leq \sum_{i=1}^n \int_0^t g_i(t, s) [u(\phi(s))]^{p_i} ds \\ &= \sum_{i=1}^n \int_{\phi^{-1}(0)}^t g_i(t, s) [u(\phi(s))]^{p_i} ds + \sum_{i=1}^n \int_0^{\phi^{-1}(0)} g_i(t, s) [u(\phi(s))]^{p_i} ds \end{aligned}$$

we get

$$\begin{aligned} u(\phi(t)) &\leq a_1(\phi(t)) + \sum_{i=1}^m \int_{\phi^{-1}(0)}^t f_i(t, \phi(s)) [u(\phi(s))]^{r_i} \phi'(s) ds \\ &\quad + \sum_{i=1}^n \int_{\phi^{-1}(0)}^t g_i(t, s) [u(\phi(s))]^{p_i} ds. \end{aligned}$$

Applying Lemma 1 to the function  $u(\phi(t))$ , we obtain

$$u(\phi(t)) \leq a_1(\phi(t)) + \bar{F}(t) \exp \left[ \sum_{i=1}^m \int_{\phi^{-1}(0)}^t f_i(t, \phi(s)) \phi'(s) r_i k^{r_i-1} ds \right]$$

$$+ \sum_{i=1}^n \int_{\phi^{-1}(0)}^t g_i(t, s) p_i k^{p_i-1} ds \Big].$$

From this we have

$$u(t) \leq a_1(t) + \bar{F}(\phi^{-1}(t)) \times \exp \sum_{i=1}^m \int_0^t f_i(t, s) r_i k^{r_i-1} ds \exp \sum_{i=1}^n \int_{\phi^{-1}(0)}^{\phi^{-1}(t)} g_i(\phi^{-1}(t), s) p_i k^{p_i-1} ds.$$

The proof of this lemma is now completed.

**Remark 1.** If we take  $m = n = 1$ , or  $r_i \equiv 1$  then the inequality established in Lemma 2 improves the inequality established in [1].

### 3. Main result

In this section we will prove (4). In this section  $V_k, k = 1, 2, \dots, n$  will denote a determinant, which is obtained from Wronsky's determinant  $W[z_1, z_2, \dots, z_n]$ , replacing its  $k$ -th column by  $e_n = (0, \dots, 0, 1) \in R^n$ .

**Theorem 1.** *In addition to the previous assumptions on (1) and (2), we assume further that*

(i) *for  $t \in R_+, u_1, \dots, u_n, v_1, \dots, v_n \in R$  we have*

$$|f(t, u_1, \dots, u_n, v_1, \dots, v_n)| \leq \sum_{i=1}^n b_i(t) |u_i|^{r_i} + \sum_{i=1}^n h_i(t) |v_i|^{p_i} + e_1(t),$$

where  $e_1$  and  $h_i$  and  $b_i : R_+ \rightarrow R_+$  are continuous  $r_i, p_i \in (0, 1]$  are constants.

(ii) *the functions  $b_i(t)(\sum_{k=1}^n |V_k(t)|)(\sum_{j=1}^n |z_j^{(i-1)}(t)|)^{r_i}, i = 1, 2, \dots, n$ , and  $h_i(t)(\sum_{k=1}^n |V_k(t)|)(\sum_{j=1}^n |z_j^{(i-1)}(\phi(t))|)^{p_i}, i = 1, 2, \dots, n$ , and  $e_1(t)(\sum_{k=1}^n |V_k(t)|)$  are in the class  $L_1(0, \infty)$ ;*

*Then, any solution  $y$  of (1) is defined on all of  $R_+$  and satisfies (4).*

*Proof.* let  $y(t)$  be any solution of (1) existing on the interval  $[r, 0] \cup [0, \beta)$ , and satisfying the initial condition  $y(t) = \theta(t), t \in [r, 0]$ , here  $0 < \beta \leq \infty$ . Put

$$y(t) = \sum_{i=1}^n A_i(t) z_i(t). \tag{17}$$

Since  $A_i(t) (i = 1, 2, \dots, n)$  are unknown functions, we may require

$$\sum_{i=1}^n A_i'(t) z_i^{(j-1)}(t) = 0, \quad j = 1, 2, \dots, n - 1. \tag{18}$$

Then, after some straightforward computations, and using (18) many times, we have

$$y^{(k)}(t) = A_1(t) z_1^{(k)}(t) + \dots + A_n(t) z_n^{(k)}(t), \quad k = 1, 2, \dots, n - 1, \tag{19}$$

and

$$(py^{(n-1)})' = p \left( \sum_{i=1}^n A_i' z_i^{(n-1)} \right) + \sum_{i=1}^n A_i (pz_i^{(n-1)})'.$$

Because  $z_1, z_2, \dots, z_n$  are solutions of Eq.(2), using (1), the last equation can be reduced to

$$p(t) \left( \sum_{i=1}^n A_i'(t) z_i^{(n-1)}(t) \right) = H(t), \quad t \in [0, \beta] \tag{20}$$

where

$$H(t) = f \left[ t, y(t), y'(t), \dots, y^{(n-1)}(t), y(\phi(t)), y'(\phi(t)), \dots, y^{(n-1)}(\phi(t)) \right]$$

herein  $y(t), y'(t), \dots, y^{(n-1)}(t)$  being determined by (17) and (19), respectively. Having  $p(t)w[z_1, z_2, \dots, z_n] = 1$ , we solve Eqs (18) and (20) for  $A_i'(t)$ , and obtain

$$A_k'(t) = V_k(t)H(t) \quad k = 1, 2, \dots, n. \tag{21}$$

Integrating (21) from 0 to  $t$ , we get  $A_k(t) = A_k(0) + \int_0^t V_k(s)H(s)ds$ . Setting  $I(t) = \sum_{i=1}^n |A_i(t)|$ , then for  $t \in [0, \beta]$ , we have

$$I(t) \leq I(0) + \sum_{k=1}^n \int_0^t |V_k(s)||H(s)|ds.$$

Applying Conditions (i) to the above inequality we obtain

$$\begin{aligned} I(t) &\leq I(0) + \int_0^t \left( \sum_{k=1}^n |V_k(s)| \right) \\ &\quad \times \left| f \left[ s, y(s), y'(s), \dots, y^{(n-1)}(s), y(\phi(s)), y'(\phi(s)), \dots, y^{(n-1)}(\phi(s)) \right] \right| \\ &\leq I(0) + \int_0^t \left( \sum_{k=1}^n |V_k(s)| \right) \left[ b_1(s)|y(s)|^{r_1} + \dots + b_n(s)|y^{(n-1)}(s)|^{r_n} \right. \\ &\quad \left. + h_1(s)|y(\phi(s))|^{p_1} + \dots + h_n(s)|y^{(n-1)}(\phi(s))|^{p_n} + e_1(s) \right] \\ &\leq I(0) + \int_0^t \left( \sum_{k=1}^n |V_k(s)| \right) \left[ b_1(s) \left( \left| \sum_{i=1}^n A_i(s)z_i(s) \right| \right)^{r_1} + \dots \right. \\ &\quad \left. + b_n(s) \left( \left| \sum_{i=1}^n A_i(s)z_i^{(n-1)}(s) \right| \right)^{r_n} + h_1(s) \left( \left| \sum_{i=1}^n A_i(\phi(s))z_i(\phi(s)) \right| \right)^{p_1} \right. \\ &\quad \left. + \dots + h_n(s) \left( \left| \sum_{i=1}^n A_i(\phi(s))z_i^{(n-1)}(\phi(s)) \right| \right)^{p_n} + e_1(s) \right] \end{aligned}$$

Thus, using

$$\left| \sum_{i=1}^n A_i z_i \right| \leq \left( \sum_{i=1}^n |A_i| \right) \left( \sum_{i=1}^n |z_i| \right)$$

the function  $I(t)$  satisfy

$$\begin{aligned} I(t) &\leq M(t) + \sum_{i=1}^n \int_0^t \left( \sum_{k=1}^n |V_k(s)| \right) b_i(s) \left( \sum_{j=1}^n |z_j^{(i-1)}(s)| \right)^{r_i} [I(s)]^{r_i} \\ &+ \sum_{i=1}^n \int_0^t \left( \sum_{k=1}^n |V_k(s)| \right) h_i(s) \left( \sum_{j=1}^n |z_j^{(i-1)}(\phi(s))| \right)^{p_i} [I(\phi(s))]^{p_i} \end{aligned} \tag{22}$$

where

$$M(t) = I(0) + \int_0^t e_1(s) \left( \sum_{k=1}^n |V_k(s)| \right) ds$$

By our lemma, we obtain from (22),

$$I(t) \leq M_1(t) + \bar{F}(\phi^{-1}(t)) \exp \sum_{i=1}^n \int_0^t \alpha_i(s) r_i k^{r_i-1} ds \exp \sum_{i=1}^n \int_{\phi^{-1}(0)}^{\phi^{-1}(t)} e_i(s) p_i k^{p_i-1} ds, \tag{23}$$

for any  $k > 0$ , where

$$\begin{aligned} \alpha_i(s) &= \sum_{k=1}^n |V_k(s)| b_i(s) \left( \sum_{j=1}^n |z_j^{(i-1)}(s)| \right)^{r_i} \\ e_i(s) &= \sum_{k=1}^n |V_k(s)| h_i(s) \left( \sum_{j=1}^n |z_j^{(i-1)}(\phi(s))| \right)^{p_i} \\ \bar{F}(t) &= \sum_{i=1}^n \int_{\phi^{-1}(0)}^t \alpha_i(\phi(s)) \phi'(s) [(1 - r_i)k^{r_i} + r_i k^{r_i-1} M_1(\phi(s))] ds \\ &+ \sum_{i=1}^n \int_{\phi^{-1}(0)}^t e_i(s) [(1 - p_i)k^{p_i} + p_i k^{p_i-1} M_1(\phi(s))] ds \\ M_1(t) &= M(t) + \sum_{i=1}^n \int_0^{\phi^{-1}(0)} e_i(s) [I(\phi(s))]^{p_i} ds \end{aligned}$$

By the following well-known standard argument, using the conditions (ii) and in view of the local existence of Eq.(1), we can easily see that  $\beta = \infty$  holds, and so the bounded of the functions  $A_i(t) (i = 1, 2, \dots, n)$  on  $R_+$  follows from (23), and then it follows that the limits of these functions exist when  $t \rightarrow \infty$ . The proof of the Theorem 1 is complete.

#### 4. The above result for other operators

Let us consider the integro-differential equations of order  $n = m + l$  of the form

$$\begin{aligned}
 & (Py^{(m)}(t))^{(l)} \pm qy(t) \\
 &= f \left[ t, y(t), y'(t), \dots, y^{(m)}(t), (Py^{(m)}(t))', \dots, (Py^{(m)}(t))^{(l-1)}, y(\phi(t)), \right. \\
 & \quad \left. y'(\phi(t)), \dots, y^{(m)}(\phi(t)), (Py^{(m)}(\phi(t))', \dots, (Py^{(m)}(\phi(t))^{(l-1)}) \right], \tag{24}
 \end{aligned}$$

where  $P = P(t)$  is a function of class  $C^l_{(R_+)}$  such that  $P(0) = 1$ ;  $q = q(t)$  is a continuous functions on  $R_+$ .

Let  $\{Z_i\}_{i=1}^{m+l}$  be a fundamental system of solutions of the linear differential equation

$$(PZ^m)^{(l)} \pm qZ = 0 \tag{25}$$

and satisfy (3).

we will demonstrate that every solution  $y$  of (24) is defined on all of  $R^+$  and satisfies

$$\begin{aligned}
 y^{(i)} &= \sum_{j=1}^n (\delta_j + o(1)) Z_j^{(i)} \quad (0 \leq i \leq m) \\
 (Py^{(m)})^{(i)} &= \sum_{j=1}^n (\delta_j + o(1)) (PZ_j^{(m)})^{(i)}, \quad (0 \leq i \leq l-1) \tag{26}
 \end{aligned}$$

where  $\delta_i \ i = 1, 2, \dots, n$  are constants.

In this section  $\bar{V}_k, k = 1, 2, \dots, n$  will denote a determinant, which is obtained from Wronsky's determinant  $\bar{W} = \bar{W}[Z_1, \dots, Z_k, \dots, Z_n]$  replacing its  $k$ -th column by  $e_n = (0, \dots, 0, 1) \in R^n$ . Here the  $\bar{W} = \bar{W}[Z_1, \dots, Z_k, \dots, Z_n]$  of this system is formed by the  $k$ -column  $\left( Z_k, Z'_k, \dots, Z_k^{(m-1)}, (PZ_k^{(m)}), \dots, (PZ_k^{(m)})^{(l-1)} (1 \leq k \leq n) \right)$ . This Wronsky's determinant  $\bar{W}[Z_1, \dots, Z_n]$  is everywhere equal to 1.

**Theorem 2.** *Let condition (i) of Theorem 1 hold, and also the following condition be satisfied:*

(ii)' *The functions  $b_i(t)\bar{Z}(t), h_i(t)\hat{z}(t), i = 1, 2, \dots, n, e_1(t)v(t)$  are in the class  $L_1(0, \infty)$ ;*

where

$$\begin{cases} \bar{Z}_i(t) = v(t) (\sum_{k=1}^n |Z_k^{(i-1)}|)^{r_i} & (1 \leq i \leq m+1) \\ v(t) (\sum_{k=1}^n |(PZ_k^{(m)})^{(i-m-1)}|)^{r_i} & (m+2 \leq i \leq n). \end{cases}$$

$$\begin{cases} \hat{Z}_i(t) = v(t) (\sum_{k=1}^n |Z_k^{(i-1)}(\phi)|)^{p_i} & (1 \leq i \leq m+1) \\ v(t) (\sum_{k=1}^n |(PZ_k^{(m)}(\phi))^{(i-m-1)}|)^{p_i} & (m+2 \leq i \leq n). \end{cases}$$

$$v(t) = \sum_{k=1}^n |\bar{V}_k(t)|,$$

Then, any solution  $y$  of (24) is defined on all of  $R_+$  and satisfies (26).



*Proof.* let  $y(t)$  be any solution of (1) existing on the interval  $[r, 0] \cup [0, \beta)$ , and satisfying the initial condition  $y(t) = \theta(t)$ ,  $t \in [r, 0]$ , here  $0 < \beta \leq \infty$ . Put

$$y(t) = \sum_{i=1}^n A_i(t)Z_i(t). \quad (27)$$

and we impose  $n - 1$  conditions on the unknown functions  $A_i(t)$ :

$$\sum_{i=1}^{m+l} A_i' Z_i^{(j)} = 0, \quad (0 \leq j \leq m+1), \quad \sum_{i=1}^{m+l} A_i' (PZ_i^{(m)})^{(j)} = 0, \quad (0 \leq j \leq l-2). \quad (28)$$

Then  $y^{(j)} = \sum_{i=1}^n A_i Z_i^{(j)}$ ,  $(0 \leq j \leq m)$  and

$$Py^{(m)} = \sum_{i=1}^n A_i PZ_i^{(m)}. \quad (29)$$

Hence, by (28)

$$(Py^{(m)})' = \sum_{i=1}^{m+l} ([A_i'(PZ_i^{(m)}) + A_i(PZ_i^{(m)})']) = \sum_{i=1}^{m+l} A_i(PZ_i^{(m)})'$$

and

$$(Py^{(m)})'' = \sum_{i=1}^{m+l} ([A_i'(PZ_i^{(m)})'] + A_i(PZ_i^{(m)})'') = \sum_{i=1}^{m+l} A_i(PZ_i^{(m)})''.$$

On proceeding inductively in this way, we have

$$(Py^{(m)})^{(j)} = \sum_{i=1}^{m+l} A_i(PZ_i^{(m)})^{(j)}, \quad (0 \leq j \leq l-1). \quad (30)$$

Moreover, from (25) we get

$$(Py^{(m)})^{(l)} = \sum_{i=1}^{m+l} [A_i(PZ_i^{(m)})^{(l-1)}]' = \sum_{i=1}^{m+l} A_i'(PZ_i^{(m)})^{(l-1)} \mp q \sum_{i=1}^{m+l} A_i Z_i.$$

Then, by(24), we have

$$\begin{aligned} \sum_{i=1}^{m+l} A_i'(PZ_i^{(m)})^{(l-1)} &= (Py^{(m)}(t))^{(l)} \pm qy(t) \\ &= f \left[ t, y(t), y'(t), \dots, y^{(m)}(t), (Py^{(m)}(t))', \dots, (Py^{(m)}(t))^{(l-1)}, y(\phi(t)), y'(\phi(t)), \right. \\ &\quad \left. \dots, y^{(m)}(\phi(t)), (Py^{(m)}(\phi(t)))', \dots, (Py^{(m)}(\phi(t)))^{(l-1)} \right] =: H(t) \end{aligned}$$

So,

$$\sum_{i=1}^{m+l} A_i'(PZ_i^{(m)})^{(l-1)} = H(t) \quad (31).$$

Now, we solve Eq.(28) and (31) with respect to  $A_i'$  ( $1 \leq i \leq n$ ). Then we have

$$A_i(t) = A_i(0) + \int_0^t \bar{V}_i(s)H(s)ds; \quad (1 \leq i \leq n). \quad (32)$$

Furthermore, by(i),(29) and (30), we obtain

$$\begin{aligned} |H(t)| &\leq \sum_{i=1}^{m+1} b_i(t) \left( \left| \sum_{k=1}^n Z_k^{(i-1)} A_k \right| \right)^{r_i} + e_1(t) \\ &\quad + \sum_{i=m+2}^n b_i(t) \left( \left| \sum_{k=1}^n (PZ_k^{(m)})^{(i-m-1)} A_k \right| \right)^{r_i} \\ &\quad + \sum_{i=1}^{m+1} h_i(t) \left( \left| \sum_{k=1}^n Z_k^{(i-1)}(\phi) A_k(\phi) \right| \right)^{p_i} \\ &\quad + \sum_{i=m+2}^n h_i(t) \left( \left| \sum_{k=1}^n (PZ_k^{(m)}(\phi))^{(i-m-1)} A_k(\phi) \right| \right)^{p_i} \\ &\leq \sum_{i=1}^{m+1} b_i \left( \sum_{k=1}^n |Z_k^{(i-1)}| \right)^{r_i} \left( \sum_{k=1}^n |A_k| \right)^{r_i} + \sum_{i=m+2}^n b_i \left( \sum_{k=1}^n |(PZ_k^{(m)})^{(i-m-1)}| \right)^{r_i} \\ &\quad \times \left( \sum_{k=1}^n |A_k| \right)^{r_i} + \sum_{i=1}^{m+1} h_i \left( \sum_{k=1}^n |Z_k^{(i-1)}(\phi)| \right)^{p_i} \left( \sum_{k=1}^n |A_k(\phi)| \right)^{p_i} + e_1(t) \\ &\quad + \sum_{i=m+2}^n h_i \left( \sum_{k=1}^n |(PZ_k^{(m)}(\phi))^{(i-m-1)}| \right)^{p_i} \left( \sum_{k=1}^n |A_k(\phi)| \right)^{p_i} \Big]. \end{aligned}$$

Then proceeding as in the proof of Theorem 1, we have that  $y(t)$  is defined on all of  $R_+$  and satisfies (26).

## REFERENCES

1. S. M. Aziz, A. H. Nasr, *Asymptotic behavior and oscillations of second order differential equations with deviating argument*. J. Math. Anal. Appl. **197** (1996), 448-458.
2. F. Meng, W. Li, *On some new integral inequalities and their applications*. Appl. Math. Comput. **148** (2004), 381-392.
3. S. R. Grace, B. S. Lalli, *Asymptotic behavior of certain second order integro-differential equations*. J. Math. Anal. Appl. **76** (1980), 84-90.
4. D. Bainor, P. Simeonov, *Integral Inequalities and Applications*. Kluwer Academic Dordrecht 1992.
5. R. Bellman, *The stability of solutions of linear differential equations*. Duke Math. J. **10** (1943), 634-647.
6. T. H. Gronwall, *Notes on the derivatives with respect to a parameter of the solutions of a system of differential equations*. Ann. Math. Appl. **20** (1999), 292-296.

7. O. Lipovan, *A retarded Gronwall-like inequality and its applications*. J. Math. Anal. Appl. **252** (2000), 389-401.
8. B. G. Pachpatte, *Inequalities for Differential and Integral Equations*. Academic Press NewYork 1998.
9. B. G. Pachpatte, *On some new inequalities related to a certain inequality arising in the theory of differential equations*. J. Math. Anal. Appl. **251** (2000), 736-751.
10. B. G. Pachpatte, *Explicit Bounds on certain Integral Inequalities*. J. Math. Anal. Appl. **267** (2002), 48-61.

**Yitao Yang** is now works in Tianjin University of Technology. His research interests focus on applied mathematics.

College of Science, Tianjin University of Technology, Tianjin 300384, P. R. China  
e-mail: yitaoyangqf@163.com

**Fanwei Meng** is a professor and doctoral supervisor of Applied Mathematics of Qufu Normal University. His research is supported by National Natural Science Foundation of China. His research interests focus on differential equations and difference equations.

Department of Mathematics, Qufu Normal University, Qufu, 273165, P. R. China  
e-mail: fwmeng@mail.qfnu.edu.cn